I, Closed System M In.a closed seaction mass cannct be

1 lost
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Conservation : _Whgn the reactants equal the
of Mass /% products.

. \G Whan the reaction is closed and

3. OpenSystemi-} " oases can't escape.

4. Atomic Massy"| D. How heavy a compound o
r motlecule is.
B, When gases arer’t caught by the
" experimental setiip.
B, Thedecinal numbers on the periodic
table.

5. Molecular N
Mass

6. Balanced .
Reaction

Find the atomic masses for the following elements

A. Sodium= _L 5 E. Gold= __| )

B. Chlorine = _ 4 F. Hydrogen= _|
C lon=__ S&» G Neon=_ 7>

D. Mercury = __ 7.5 H Lead= _ 20077
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Open or closed reaction?
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Will you be able fo prove the Law
of Conservation of Mass with this
setlp? 'Why ‘or'why not?
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Will the mass of his- pmducts he greater than, less than,
or equal to hits reactants? X}\
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4K + 03— 2K30 125 g of Potassium is.reacted
%o +5 ¢ 7% with 5 g of Oxygen, how much
- Potassmm Oxide is produced?

(:; ah
Mg+ O, — ZMeO U 23 gof Magnesium is reacted
2B+ 1g 8e with Oxygen to produce 38 g of

Magriesium Oxide, How mitich
Oxyﬂen was Used in-the reaction?
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2KCl+ LisO — K0 + 2LiCI  Using the numbers

g +4 9g 12 given, find how much
SRR \ & -8 K0 is produced in-
BoSN the reaction.

How niany total molecules are there?
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Li,O + MgCly — 2LiCl + Mg

Name the firstreactant: [ Wiwirt (150 C,(\u

Name the second p‘méuctf_iv {f.ix_a)' wigyuri { S)K{f;fi’iu

| How many Magnesiums on.the pmducti—s'ide*?' f

How many total aroms me there?
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Circle the second reactant. _L_?r_z_de_ﬂm.,e;:;he first product.

How. miany Nitrogen atoms on the reactant side: o~

eyl
How many Calcium atoms on the product side? 5
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Circle the first product. Underline the first reactant.

Vs
How 1nany Sodium atoms on the product side? T

How many AICl molecules on the reactant side? ! .
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Circle and Name the first mactant. Lo Oerds
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How many total atoms onthe product side:.
- . . R .‘/ > -
How many fotal molecules on thereactant.sider %o




